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1) Hard for authorities to plan when
populations grow quickly

xu%..ﬁz 2) Increased pressure on resources, land
wwuc_nmg and services (such as health and
education)
3) Increased pollution
1) Increased pressure on health services
- 2) Fewer people in the population
Ageing - working and paying taxes
population
3) Increased poverty amongst older
people.
1) 1in 9 people still go hungry every day
Feeding 2) Global population still increasing but

the food production is not increasing as
population  quickly
3) Food is not evenly distributed.
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Birth rate
Death rate

Infant mortality rate

Natural increase

Natural decrease

Life expectancy
Inequality
Population

Migration

Population density

Population
distribution

Rural area
Urban area

Sparsely populated

Densely populated
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World population growth, 1750-2100

The number births per 1000 people per year.
The number of deaths per 1000 people per year.

The number of babies that die before their first
birthday, per 1000 live births per year.

When there are more births than deaths, so the
population grows.

When there are more deaths and births, so the
population shrinks.

The average age that a person is expected to live to.
A lack of fairness or equality.
The people who live in a particular place.

The movement of people (or animals) from one place
to another.

The number of people living in one square kilometre.
How people are spread out.

An area of countryside or a village.
An area of town or city.

Very few people live in the area. For example: rural
areas such as the Scottish Highlands.

Many people live in the area. For example: cities such
as Manila in the Philippines and Milan in Italy.
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Lesson

You will learn:

Learning Review

Question

Where are all ;—ihow tl‘non}/ people live on
) e plane
the people : Where people are
distributed globally
How the global population
has changed in size and
distribution
Why does \é\/hy populﬁfigns ?r:owf
. easons why death rates
population and birth rates change
change? How the UK's population
has changed
Whatis a What a population pyramid
. is
pOpUlngOﬂ Why population pyramids
pyramide are useful
How to create a
population pyramid
That increased population
What
density creates challenges
ChO”engeS . Why slums develop around
can a growing | rapidly growing cities
pOpUlOTiOh How pollution can become
preseme a serious challenge
What What an ageing
populatfion is
chollenges . Why an ageing population
can an ageing | can present challenges
pOpUlCITiOh Examples of challenges
presente
How do we There is global inequality in
access to food
feed the The challenges of food
planete production

The challenges of food
distribution

Possible solutions to the
problem
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LESSON ONE: Where are all the people?

Vin
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1.6%
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Look at the graph below.
What has happened to the wo

\/\ Annual growth rate of
the world population

,A:] World population
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rld’s population overall?
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World population growth, 1750-2100

Why do you think this has happe

ned?

1. Use the graph of World Population Growth, 1750 to 2100 to answer the

a) What was the world’s total population in 18002
b) What was the world’s total population in 19602

c) Whatis the predicted total population by 21002

k¢

questions.
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d) In what year was the world’s annual growth rate at its higheste

e) By how much has the world’s total population grown between 1800 and
20152

0-1 @ 16-30 @ 1100-2500

a3 @ 30-85 @ 2500-5000
7 36 @ 85-160 @ Over 5000
@ 6-10 @ 160-550
@ 10-16 @ 550-1100

Map: Global Population Distribution shown using number of people per km?2

2. Use the map of Global Population Distribution to complete the sentences.

Two countries with the highest population density are

Two countries with the lowest population density are

The population density in the majority of Japan Is per
kilometre squared.

Greenland has a population density of per
kilometre squared.

Reach Academy
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Population Density

5000+
2500-5000 I N
1000-2500 =
500-1000
250-500
| 100-250
50-100

25-50

0-25

Map: British Isles population density in
2011 using people per km?

3. What do you notice about the
population distribution of the
British Isles? Add arrows to
annotate the areas that have more
people and the areas that have less
people. Use the key to help you.

Helpful words: most; many; few;
some; majority; sparsely populated;
densely populated

0-20
20-40
40-60
60-100
100-160
160-300
300-700
700+

Map: Population distribution of Mexico using people per km?

4. What do you notice about the population distribution of the Mexico?

Helpful words: most; many; few; some; majority; sparsely populated; densely populated
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Q 5. State one similarity and one difference between the population
distributions of the UK and Mexico.

One similarity between the population distributions of the UK and Mexico is...

However, one difference between the population distributions of the UK and Mexico
is...

Share in Percentage, 2100
according to UN 10.9 billion

medium fertility ' 6°
variant Projection.

2050
9.6 billion .

2010
6.9 billion

2050
9.6 billion

1950
2.5 billion

& Asia ¢ Latin America
i and the Caribbean
& Africa

€ North :
Europe North America

@

6. Choose the correct word in each sentence.

a) Asia has had an (increase/decrease) in the proportion of the world’'s population
between 1950 and 2010.

b) Africa will have the second (largest/smallest) proportion of the world's population by
2100.

c) In 2010 the majority of the world's population lived in (Europe/Africa/Asia).

d) The region with the lowest proportion of the world’s population in 2010 is (Africa/Latin
America/Northern America).

e) By 2100, the world'’s population will have almost (doubled/tripled/quadrupled) in size.

* Reach Academy
. Feltham
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LESSON TWO: Why does population change?

Retrieval Practice

1. By 2100 the global population is expected to have reached approximately:
a) 6 billion
b) 15 billion
c) 10 billion
d) 20 billion

2. Which two regions of the world will have most of the world’s people by 21007?

3. Total global population is decreasing. True/False
4. The majority of the world’s population currently is located in which region? ........cccceeeeeieireceeenne.

5. Which type of area has a low population density, rural or urban areas?  .....cccoeevveveveevceeienenen,

Glossary
_ Becoming free from legal, social and political restrictions.
_ A way to prevent or reduce the likelihood of pregnancy

@ 1. Match the key term with the correct definition.

Birth rate When there are more deaths than births, so the
population shrinks.

Death rate The people who live in a particular place.

Natural The number of births per 1000 people per year.

increase

Natural The average age that a person is expected to live

decrease fo.

Population The number of deaths per 1000 people per year.

Life When there are more births than deaths, so the

expectancy population grows.

Reach Academy
Feltham
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Q 2. Place the information into the correct column in the table then explain why
it causes birth or death rate to increase or decrease. Use the example to help you.

- drought

- lack of healthcare

- changing status of women

- religious beliefs

- disease

-war

- contraception available

- improved-healthecare

- improved sanitation

- more food available
- lack of clean water
- improved hygiene

- lower infant mortality r

ate

Change in birth rate

Increase
/Decrease
Why?

+*
¥

Change in
death rate

Increase
/ Decrease
Why?

+*
¥

e.g. improved
healthcare

People do not
need to have as
many children as
most survive.

e.g. improved
healthcare

People’s health is

improving mean
they live longer.

ing
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The UK’s changing population

3. Read the text and complete the activities.

The population of Great Britain increased
rapidly during the 1800s, with cities like
London nearly doubling in number of
people living there. In 1811, the
population of the UK was 18 million. By
1851, this had increased to 27 million.
London had grown in size from around
1.5 million to 2.5 million people.

By 1850, more than half the British
population lived in towns and cities and
worked in factories and mines. Many
cities such as Liverpool, Glasgow and
Manchester, had grown in size.

4. Answer the questions below.

During the 1800s was ‘?opulaﬁon
growth fast or slow in the UK?

Where did most people live in Britain
during the 1800s?

rural areas / urban areas

By the 1900 falling birth rates, due to
changing social attitudes and

the emancipation of women, led to a
slowing of population growth. Since the
1950s, access to contraception and
modern medicines have helped keep
birth rates and death rates low and as a
result population growth has been low.

)‘ 5. Give two reasons for the slowing
of population growth in the UK since the
1950s.

1.

2,

The UK's population is still increasing but
at a much slower rate. Birth rates are
currently low in the UK:

women are marrying later and delaying
starting a family due to career building
the high cost of living makes bringing
up children expensive

couples may prefer to spend money on
things such as holidays and cars

birth control and the contfraceptive pill
are easily available

While death rates are low as:

health care is modern and widely
available, provided free by the NHS
people have less physically-demanding
jobs

modern medicines treat many diseases
people are better educated about
health and hygiene

higher incomes enable people to eat a
healthy diet and have good living
conditions

Taken from BBC (Sources:
https://www.bbc.com/bitesize/guides/z8k9ng8/revision/1

andhttp://www.bbc.co.uk/schools/gcsebitesize/history/sh
p/britishsociety/populationmigrationrevi.shtml )
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>
/ 6. Explain why the UK’s population has changed since 1800.

You should include:

-  Whether the population has increased or decreased overall

- Explain the change in rate of population increase or decrease (how
fast/slow)

- 4reasons for these changes

Since 1800, the UKs population has...

. Return to page 3 and complete the Learning Review.
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LESSON THREE: What is a population pyramid?

Retrieval Practice

1. Give two reasons for changes in birth rate.

a.

b.

2. What would be higher if there is a natural increase in the population Birth rate or Death rate?

3. In what year did the UK’s population begin to rapidly increase?

1900
1850
1950
1800

o 0 oo

4. Which type of area has a high population density, rural or urban areas?

5. The majority of the world’s population will be located in Africa by 2100.

True/False

ILE

What are population pyramids?

1. Read the text together.

A population pyramid is a graph that
shows the distribution of various age
groups in a population (usually of a
country or region of the world). The
graph tends to form the shape of
a pyramid when the population s
growing. Males are usually shown on the
left and females on the right, and they
may be drawn using raw humbers or as
a percentage of the total population.

Reach Academy
Feltham
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This tool can be used to visualise the
general age and distribution of a
particular population. Using population
graphs can help us understand a
country’s population and can be used
when deciding government policies
and strategies for controlling
population.
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9 3. Use the text on page 12 to label the population pyramid below.

Helpful words: males; females; age; percentage of population; highest life
expectancy

Graph: Population pyramid

80+
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70-74
65-69
6064
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Q 4. Look at the two population pyramids and answer the questions.

Graphs: Population pyramid from 2017 for the Congo (top) and Japan (bottom)

100+ ] 0.0% 0.0% 2017
95-99 101 194 Population - 4, 866, 243
90-94 0.0% | 0.0%

85-89 Male 0.1%]0.1% Female
80-84 0.2% | 0.2%

75-79 0.3% Wl 0.4%

70-74 0.5% [l0.6%

65-69 0.7% [l 0.8%

60-64 0.9% [l 1.0%

55-59 1.1% N 1.2%

50-54 1.49; I 1.4%

45-49 1.9% NG 1 5%

40-44 2.4% I ° 3%

35-39 2.9% [ 2.9%

30-34 3.3% I : -

5-9

0-4
g e T —
10% 8% 6% 4% 2% 0% 2% 4% 6% 8% 10%

Congo, 2017
2017
100+ 0.0% | 0.0% Population - 126, 045, 211
95-99 0.1%2.369;%
90-94 0.3% .
e Male 0.9% SN L 7% Female
80-84 1.6% [l 2.4%
70-74 3.1% 3.5%
65-69 315% NN 3 5%
60-64 32.1% D 3-2%
55.59 2.9% [ 3 0%
50-54 3.2% [ 3.2%
45-49 3.7% [N I 5%
40-44 3.7% [ 3.7%
35-39 3.2% [ 3. 1%
30-34 2.9% [ 2 5%
25-29 2.7% D 2.5%
20-24 2.4% | 2. 3%
15-19 2.4% [ 2.3%
10-14 2.29% D0 2. 1%
5-9 2.2% I 2-1%
0-4 | 2.1% [ 2.0%
10% 8% 6% 4% 2% 0% 2% 4% 6% 8% 10%
Japan, 2017

k¢

25-29 3.7% 3.7%
20-24 4.3% ;

15-19 4 H
10-14
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a) Which population pyramid has the
highest percentage of people aged
between 0-4? (Congo/Japan)

b) Which population pyramid shows
a lower life expectancy?
(Congo/Japan)

c) Which age group is the largest in
Japan?

d) What does a wider base of a
population suggest about birth
rates?

(higher birth rates/lower birth rates)

e) What has happened to Japans
birth rate in the past 20 years?
(increased/decreased)

f) An aging population is a population
that has an increasing number of
older people in comparison with
younger people. Which of the
population pyramids shows an aging
population? (Congo/Japan)

g) A youthful populationis a
population where there are an
increasing number of young people
compared with people of working
age and older. Which of the
population pyramids shows a
youthful population? (Congo/Japan)
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5. Complete the population pyramid for Qatar using the table of data.

20-24
10-14 :zaaallllllllll
10% 2% 5% 5% 2% 0% 2% 4% 8% 2%
Age group Female Percentage of Age group | Female Percentage of
population population
0-4 2.5 55-59 0.5
5-9 2.3 60-64 0.2
10-14 2.0 65-69 0.1
15-19 1.4 70-74 0.1
20-24 2.3 75-79 0.1
25-29 3.6 80-84 0
30-34 3.1 85-89 0
35-39 2.4 90-94 0
40-44 1.8 95-99 0
45-49 1.2 100+ 0
50-54 0.9

\% Reach Academy
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6. Look at the population pyramid you have just drawn. What is unusual about
it?

@ 7. Bulges and dips in population pyramids show a large increase or decrease
in a particular age group. Read the following statements and decide if they would
show an increase or decrease in population.

a) A war has been occurring for the last five years. (increase/decrease)
i) Which age groups and sex do you think this would affect most?

b) There are alarge number of jobs doing manual labour for migrant workers.
(increase/decrease)
i) Which age groups and sex do you think this would affect most?

c) A country has started a population policy that only allows women to have
one child. (increase/decrease)
i) Which age group would this affecte

d) Medical care has been improving for the last 50 years. (increase/decrease)
i) Which age groups would this affect?

e) Which of the previous causes of bulges and dips is the most likely
explanation for the bulge in the Qatar population pyramid?

. Return to page 3 and complete the Learning Review.
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LESSON FOUR: What challenges can a growing population present?

Retrieval Practice

1. Label the population pyramid with the following labels: high birth rate; males;

percentage of population; possible war; females; age.

France v
1950 30|Ju13:0n:4l,879,607
] Male Female
a0+ 0.5% I 1.0%
7570 2.0% [ 1.4%
T0-74 143 [N |z 0%
580 17% [ 25%
20-84 20% N 28%
550 zz« [N 1%
£0-54 =00 [ G 4%
1540 2 [ 37%
40-24 3.7+ | 7%
25-39 25 [ 28
20-34 1% [N 1%
2520 <15 [ £1%
20-24 2o+ [ 7%
15-18 22% NG 3.7%
10-14 2.4 [ A%
o 225 | 9%
o4 1o« [N 4
b KT T FOTEY AN FITa— | T T 1

T T
10% 8% 8% 4% 2% 0% 2% 4% % 8% 10%

Graph: Population pyramid of France in 1950

(Source: https://www.populationpyramid.net/france/1950/ )

2. What type of population has a population pyramid that is very tall with people
living to over 100 and has a narrow base with fewer young people? (aging
population/youthful population)

3. Give two reasons for changes in death rate.
a.
b.

4. A country that has a high population density is sparsely populated/densely
popvulated.

5. The region of the world with the smallest proportion of the world’s population
currently is :

Reach Academy
Feltham
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1. Rapidly growing populations can present many challenges. One of these
challenges is the growth of informal settlements, which are also called slums,
shantytowns and favelas.

Look at the photograph below.
Annotate the photograph with the challenges you can see.

Poor access to clean water

Photograph: Street in Kibera, Nairobi, Kenya

Kibera: Challenges of population growth

Kibera is a slum within the city of Nairobi mud walls. Most houses have a family of
in Kenya. There are around 1.2 million eight people living in them. Water had to
people living in Kibera in an area of 2.5 be collected from the Nairobi dam. The
square kilometres. It is the biggest slum in dam water is not clean and causes
Africa. Almost 75% of the population are sickness. Now there are two mains water
under the age of 18 and around 100,000 pipes into Kibera, which have helped
children living there are orphans. The improve people’s lives. However in most
Government owns all the land but have of Kibera, there are still no toilets. Up to 50
struggled to keep up with the rapidly shacks share one latrine (hole in the
growing population in Nairobi. Due to this, ground).

many people live in small shacks built with

* Reach Academy
. Feltham
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’\2. Answer the questions.
a) Why do many people live in small
shacks with mud walls?

b) Is Kibera sparsely or densely
populated?

Only about 20% of Kibera has
electricity and until recently, Kibera
had no running water.

L3. List three problems that
people living in Kibera face.

i)

if)
i)

In Kibera, there are no government
clinics or hospitals as the government
have struggled to keep up with the
needs of the population.

9 4. What might is be like living in Kibera?

5. New Delhi, India has a population of over 18 million. The city has rapidly grown in
the last 50 or so years. However, this has not been without problems. More people means
more cars, more factories and in turn more pollution. Pollution is measured using the
amount of carbon particles in the air (PM — particulate matter). Carbon particulates are
released when fossil fuels are burnt along with carbon dioxide.

Look at the graph below.

al - What was the increase in carbon particulates between 2001 and 20102

bl How far above the WHO (world health organisation) guidelines, is the pollution in

20102 woovovoeeeeee. ug/m?

Reach Academy
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300

200

100

2003
2004

2001
2002
2005

2006
2007

2008
2009
2010

== Anuual Average from Nine Stations
— National Annual Ambients Standard (60)

--- WHO Guideline (20)

Graph: Bar graph showing pollution in New Delhi (2001 to 2010).

/ . 6. Why is pollution a problem? List three reasons.

a)

b)

c)

3
/ 7. Explain two challenges of a growing population.

One challenge of a growing population is...

This is a problem because...

Another challenge is...

This causes problems as...

Reach Academy
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LESSON FIVE: What challenges can an aging population present?

Retrieval Practice

1. List three challenges of a growing population.
a)
b)

c)

2. A population pyramid shows:
a) The distribution of people in a country
b) The distribution of age and gender in a country or region
c) The distribution of pyramids in a country
3. What must be higher for there to be a natural decrease in population?
birth rate / death rate

4. Most people live in urban / rural areas.

5. Whatis predicted to happen by 2100 to global population?

It will have: increased / decreased

1. Look at the
map.

a) Name three
countries that by 2025
will have 30% or more
of their population
aged 60 or over.

Populations are Getting Older

Percentage Aged 60 Years or Older:-
B 30% or more M 10 to <30% <10%

b) Which continent will mostly still have less than 10% of populations aged 60 and
overe

Image: Map showing aging populations from the World Health Organisation (WHO)

Reach Academy
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Q 2. What challenges might these countries face in the future if they have an

increasing number of elderly people?

L=

Japan’s shrinking population

3. Japan is just one example a country with an aging population.

In 2017, for the second year in a row,
Japan saw less than 1 million babies
being born a further decrease from
previous years. The number of deaths,
on the other hand, had increased
resulting in a total population decrease
of 394,373.

"q) What has happened to
Japan’s population?
(increased/decreased)

With fewer babies being born and
more people living for longer, Japan is
facing many problems. The
government has to spend more money
on healthcare to help support the
elderly population while at the same
time there are less people working and
paying taxes. With fewer young
people, the workforce is shrinking and
there are far less people to help care
for the elderly.

Q b) Spending more on healthcare
is a challenge caused by an aging
population. (True/ False)

c) There are less people of
working age in an aging population.
(True / False)

The lack of people to help the elderly
along with pension shortages has led
to an increase in poverty amongst
older people.

Japan’s government is currently not
able to provide for its aging population.
Japan is not the only country facing
these problems. Other countries such as
the UK, the USA and Germany are
rapidly approaching similar situations.

"d) What has increased in Japan
due to pension shortages and a lack of
people to help the elderly?

This does not however mean that there
is no hope. Pension ages are increasing
in many countries with aging
populations and people are
encouraged to save for their retirement.
Migration is being encouraged to
increase workforce numbers and
governments are starting increase
spending for facilities such as nursing
homes.

Q e) List three solutions to the
challenges caused by an aging
population.

i)
i)
iiii)

It is still uncertain however whether such
actions will be able to solve the
problems caused by aging populations.

Reach Academy
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>
/ 4. Explain the challenges caused by an aging population.
You should include:

- Three challenges of an aging population
-  Why these cause problems
- An example of a country where this is happening

An aging population can present many challenges for example...

/)0

5. Use the model to help improve your answer.

. Return to page 3 and complete the Learning Review.
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LESSON SIX: How do we feed the planet?

Retrieval Practice

1. List three challenges of an aging population.

2. True or False?¢
a) Access to clean water, good sanitation and hygiene are sometimes
difficult in areas with rapidly growing populations. True / False
b) There are pressures of health services due to the high number of elderly
people in a growing population. True / False
c) There are more people using resources like health and education
placing pressure on in a growing population. True / False

3. What must be higher for there to be a natural increase in population?
birth rate / death rate

4. What does a wide base on a population pyramid suggeste
a) A high death rate
b) A high birth rate
c) A high life expectancy

5. Look at the map. Overall, is Europe sparsely populated or densely
populated?e

Jo-1 X %I AL
Ela=3 = ‘ﬁ;’
Ols-6 ¥ <

[lé6-10 \&\:\""
[Jiw-16 =

i i6-30 \_‘_?...
M30-85 RS %
S5 - 160 = ?
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Glossary

Being without reliable access to enough affordable and
nutritious food
Having access to enough affordable and nutritious food

Not having enough food to develop, grow and function
normally
Growing food for people to eat

I

Saingnifig R fghanistan

South . .
Eae_ Fthiopia s ¢
Sudan i —Somalia  H, ##, t..
DR Congo~=giis Burundi e .
i =r—Comoros i 3
i g

B Extreme Risk [] High Risk M Medium Risk
M Low Risk EINo Data

Food Security Risk Index 2013
Map: Global food security risk index from 2013.

a) Most countries with extreme risk of food insecurity are in the continent of
. For example, and

b) However, there are countries with extreme and high risk of food insecurity such

as and that are not in
Africa.

c) Most of Europe, Canada and the USA are at risk of food
insecurity.

d) Most of South America is at risk with the exception of
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*~ 2. How might population distribution be linked to food distribution?

Q 3. Look at the infographic below and unjumble the sentences to make
grammatically correct ones.

current world population food to feed the There is enough
1in8 hungry every day people goes

food produced Around 1/3 of each year is wasted
2,720 kcal per day. There is enough food in the world

for each person to have

severely overweight (obese) people are considered 1in14
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1in 8 people

GLOEALLY

There is enough food in the
world to provide everyone with

atleast 2,720 koal
PEr person per day

aufters from chranic =40 million _
hunger children undor the age Poarly noulahed
e B a? T of {§ are ovaraaight ehildran auffar up L&
cituces 1 7% A A 160 days
:{mu-ulﬁrl!iup-.ur *wwww www ™™ nF Inl-l-n-l-uﬂmrur
porsca today i e B o
PP T — 'g"‘ Eean

THAN it did 30 faces malnuirition in 1in 14 people = #ﬁ
YOS g, dewsloping countries s b
dospibe o Tﬂ%

""" = of tho
Wl rld "|gr|l'ur|.|.rr.!|l a-rlﬂ 1] IS LUsE |:| .m:lluall_.r
1o produce food that |2 loat or wasted

Total land arca of
Canada and India

1.4 siltion
hoctaros

Infographic: Facts about food security

Hithini i

Roughly 4 of food produced {about 1.3
billion tonnes) is lost or wasted per vear

Sub-Saharan Al
arsd South Asin wast

B11kg

[ L)
95,116kg

(Source: PowerPoint Presentation Tools and Resources: https://www.scoop.it/t/biomes-and-food-security-by-georgina-birch )

LE]

The Global Food Crisis

4a, Read the information below.

Currently there is enough food produced
around the world to feed the growing
population. The main problems are that
food is not evenly distributed and that a lot
of is being wasted.

However, through waste and
distribution are currently the main
problems, in the future, it is unlikely
that we will be producing enough to
feed the population without making
some changes. There are some
solutions to these problems.

L4b. State the two main problems causing food insecurity currently.

a)

b)
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Not enough production of food

Not evenly distributed

Irrigation

Irigation is a water
supply to land through
channels to help crops
grow. This allows land
that could not be farmed
before to be used. This
provides more food.

Appropriate
technology

Giving affordable and easy to
use machinery to farmers in
poorer countries can help
improve the amount of crops
that are produced. This ensures
that farming can become more
reliable in countries where there
are high levels of food insecurity.

Hydroponics and
aeroponics

These are systems that
allow plants to grow
without soil. This allows
countries who have poor
soil fo grow food. The
can however be
expensive.

Support small scale
farmers

Government and charities
supporting small scale farmers
ensures a more stable supply of
food in areas where there are
higher risks of food insecurity.

Table: Some solutions to the problems of food insecurity.

Q 5. Fill in which solution is shown in the picture using the table.

k¢
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